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1 Z3 : 0.230+2.200=2.430m*
( ><01)><1m 0.230m*
{21x21 (15%1.5)+(= ><O.2><0.2><2)}><1m:2.200m3
2 HIEXSE : 8.466m2
{(21%2) +(1.3%x2) +(1.1) + (V022 +0.22 x 2) } X 1m, = 8.466m>
3 1= 20 5O
( 3'3;7'0 X 3.7) X 1m =19.055m>
L) HEH
{(21%2.1) +(2.3%0.1) }x 1m = 4.640m>
ChH ZH0&
19.055 —4.640 = 14.415m3
4 b =
plk= S&  [20l(mm)| =& |3820(m)| IS S&  |20/(mm)| =& |&20(mm)
1 D13 4170 4 16630 7 D13 1820 8 14560
2 D13 4170 4 16680 D1 D13 1000 76 76000
3 D13 1800 8 14400 H1 D13 953 8 7624
4 D13 1820 8 14560 S1 D13 1078 4 4312
5] D13 1420 8 11360 S2 D13 1118 12 13416
6 D13 1320 8 10560




